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SET —I11 Secondary
Time : 3 Hrs. English Full Marks : 90
(Class Xth)
Section — A

>

® 2w

II.

MODEL QUESTION

(Reading) Marks : 24
Read the passage given below and answer the questions that follow :

Success in life depends largely on good health. Keep your body fit and strong by
being clean, inhaling fresh air and following regular habits and suitable entertainment.
Avoid anything that will weaken your strength. Smoking harms the body and clouds the
brain. Beware of drink. It is the deadly enemy of health and efficiency. Above all
remember that your character is a precious possession. Be truthful in all things,
courteous and considerate to everybody, fair to your opponents, kind and helpful to all
who are weak and suffering and do not be afraid to have the courage to stand up for
what is good, pure and noble.

Questions :
We can keep our body fit and strong by

a) being clean b) inhaling fresh air c) following regular habits  d) All of these
What does success depend on?

What are the things we should avoid?
How should we behave with everybody?

Complete the following :
Smoking harms the body and ............

It is the deadly enemy of .............
Our................ 1S a precious possession.

We should have the .............. to stand up for what is good, pure and noble.

Read the Passage given below and answer the questions that follow :

The Mohwa is one of the most important of Indian forest trees, not for its timber
but for its delicious flowers. To the people of Central India it provides the most
important article of food as the flowers can be stored almost indefinitely.

The Mohwa tree has a large, thick grey bark. Most of the leaves fall from
February to April and during that time the scented flowers appear hanging in close
bunches of a dozen or so. It is at night that the tree blooms and at dawn each short lived
flower falls to the ground. A couple of months after the flowering period the fruit opens.
They are fleshy green berries. They are quite large and contain from one to four shiny,
brown seeds.

The gathering of the edible Mohwa flowers is an important business to the
country people. Below the tree the ground is cleared and swept and at dawn blooms are
collected and allowed to dry out on the earth. The flowers taste something like pressed
figs. Sugar puddings and other sweetmeats are made from them. All parts of the fruits,
both ripe and unripe are used. A thick oil is extracted from the kernels, which being
yellowish, gives it the name of ‘Butter Tree’. The oil is used for cooking, making soaps
and candles.
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Questions :
Mohwa provides the most important article of food to the people of ........

a) South India b) North India ¢) Central India d) None of them
Complete the following :
The Mohwa tree has a large ............
A coupleof ......... after the flowering period, the fruit opens.
The flowers taste something like ..........
The oil is used for cooking, making .................
How do the fruits of Mohwa look? How many seeds does each fruit have?
What is the other name of Mohwa ?
Find words from the passage which mean the following :

a) gives b) taken out
Make sentence with the following words.

a) delicious b) large

Section — B
Writing & Grammar  Marks : 34

Write a letter to the Municipal Commissioner complaining about the dirt and filth lying
in your area. (In about 150 words)

OR

Write a letter to the Postmaster complaining about the postman of your area for not
delivering your letters properly.

Write a paragraph on any one of the topics given below in about 150 words.
a) Visit to a holy place b) My hobby c¢) Your favourite game

Choose the correct option and answer the following questions :
.............. verbs add meaning to the main verb by expressing ability, possibility etc.

a) Auxiliary b) Transitive
¢) Modal d) None of these

Remove ‘too’ in the sentence, ‘He is too slow to win the race’.

a) Heis very slow to win the race  b) He is so slow that he cannot win the race
c) He is so slow to win the race d) None of these

The interrogative sentence of ‘No one can control the wind’ is

a) Can any one control the wind? b) Can no one control the wind?
¢) Will any one control the wind? d) None of these

Passive voice of ‘They play cricket’ is

a) Cricket is played by them b) Cricket is play by them
c) Cricket played by them. d) None of these

Indirect speech of He said, “I have done my work”.

a) He said that I have done my work b) He said that he has done his work
¢) He said that he had done his work d) None of these

N N N = = =
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He is watching a movie is an example of

a) Past continuous tense b) Present continuous tense

¢) Future continuous tense d) None of these
The negative sentence of ‘Man is mortal’ is

a) No man is immortal b) No man is mortal
¢) Man is immortal d) None of these

She is more beautiful than her sister is in

a) Positive degree b) Comparative degree
c) Superlative degree d) None of these

The past perfect is ‘run’ is ..............

The past continuous form of ‘She is playing’ is ..................

Fill in the blanks with the suitable modals given in brackets: 1x4=
(might, must, may can)

a) I........... solve this question.

b) She said thatshe ............... win the race.

() I god bless you.

d) Candidates ................. answer all the questions.

Fill in the blanks with the correct form of verbs given in brackets: 1x4=

a) I........... your letter yesterday. (receive)

b) My father ............. a new car. (buy)

c) Thebell ............... before I reached school. (go)

d) Children were ........... cricket. (play)

Transform the following sentences as directed in the brackets : 1x4=

a) The boy is too tired to play. (Remove ‘too’)
b) Who is not afraid of death? (Into assertive sentence)
c) He said, “ I am reading a book.” (Into indirect speech)

d) They won the match. (Into passive voice)

‘He is the best student of his school’. Identify the adjective in this sentence and state its

degree.
Section — C
Literature Text Book  Marks : 32
(a)PROSE
Read the following passage and answer the questions that follow : 1x4=

The moment the letter fell into the mailbox the postmaster went to open it. It
said, “God; of the money that I asked for, only seventy pesos reached me. Send me the
rest since I need it very much. But don’t send it to me through the mail because the post
office employees are a bunch of crooks. Lencho.”
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Questions :
a) Who read the letter?

b) How much money did he ask God ?
¢) How much money did he receive?
d) Find a word from the passage which means ‘dishonest person’.

Which name is used for the sweet bread ?

a) bol b) kabai c) pedar d) None of these
The lesson ‘His First Flight’ is about a ......... .
a) pilot b) parrot c) seagull d) None of these
Which party did Nelson Mandela join ?
a) Indian National Congress b) African National Congress
c) National African Party d) None of these

What was Valli’s wish ?

a) Torideonabus b) Torideonacar c) toride onacycle d)None of these
Answer the following question.
Why did Lencho write a letter to God ? What did he ask for ?

OR
How is bread an important part of Goan life ?
(b) POETRY

Read the extract given below and answer the questions that follow : 1x4=

What is the boy now, who has last his ball,
What, what is he to do? I saw it go
Merrily bouncing, down the street, and then
Merrily over- there it is in the water !
a) Name the poem from where this extract has been taken.

b) Who has written these lines?
¢) What has the boy lost ?
d) Where did the ball go ?
The crow and hemlock tree symbolize ........
a) SOIrow b) happiness c) death d) None of these
‘A tiger in the zoo’ is written by ............
a) Carolyn Wells b) Robert Frost ¢) Leslie Norris d) None of these
What does the speaker ask Amanda not to do to her nails?
a) clean it b) bite it ¢) colour it d) None of these
Answer the following question.

Why does the poet want to turn and live with animals ?
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OR
How will the world end twice ?
(C) SUPPLEMENTARY
What was Anil’s age ?
a) 15 years b) 20 years c) 30 years d) None of these
Though Griffin was a brilliant scientist, he wasa .......... person.
a) lawful b) loyal c) lawless d) None of these
Matilda was born into a family of ...........
a) clerks b) scientist c) Engineers d) None of these
Why is Mrs. Pumphery worried about Tricki ?
Give a character Sketch of Bholi ?
OR

The course of the Loisel’s life changed due to the necklace. Comment.
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AfTar 3T g ller a1 THT B SAB = uiear & 6 Qe () & oA
f&er fireer-Tarear &f 2 (Il) &1 Sewfea U & &2 (g &1 ad @& =sisa
g0)

Section — C (=vs —C)
U JJAT 41 A 45 ddb 4 3id AT B

TSIl UeoNRGH BT el ®HRaB  p(x) Y g(x)A 19T I U HRIGA 3R
AUHB HId B |
P(x)=x"=3x"+4x+5, g(x) = x> +1—x

3rerar
Brg B3 5 3 3ufRay ds=ar 2

T &5 0.2x + 03y =13,04x +0.5y = 2.3

fopat AP b1 Uerdr ue 5, 3ifdel ue 45 3T AT 400 21 Ul BF J==AT
3T AAITaT S b< |

5 =5 cos A + 1+sin A — 2sec A

1+sin A Ccos A

4cm, 5cm 3R 6 cm e3ii arel Uk Brygst a5t zger Hifsie 3w e 596
FAAXHU Th 37 el bl Iger dpifeilor oAt et ke gu Brafst ot

stﬁaﬁgg?-ﬁéﬁl

31erar
Uh g & agATeT BT &Ehal Sd diteig, forAest uiRfer 22cm 2

Section — D (@vs —D)
U9l HSAT 46 A 49 db 5 3ih TOIT 2

Tgara JAMwEor 34— 5x+2=0 BT

(a) Fafraaas=

(b) FSH W uepler Term

(c) oI, Taardl Iz w1 IuAeT B2 Sa BT |

UF Usead & R ur U6 1.6Cm it Jfd oot 21 offH & T fuig ¥
At & BrRR &1 Ie=eaa wor 60° 31 IR M Rig I U & B @
Joetael hior 45° 1 UsIedT P HATS Sid PIHSIU |




48. i@ < 5 I FAHU Bageli & &FBall BT GgUld Seldsl JHord HeI3l &

5
JFUTd P gt B ARMET AT o |

49. TP oig &b feap, S 45cm HAT 3, d BRI @B Bre=wmd 28 cm 3RS

7cm %lm&'@ﬁﬁ%ﬁl

314t

ot AT | 0-10 | 10—20 | 2030 | 30—40 | 40—50 | 50—60 | 60—70 | 70—80 | 80—90 90—100




Model Questions Set - 111

e Rgifas)
Science (Theory)
JTHAT : 3 HE Class — Xth qoifes : 80
Time : 3 Hours 2021 Full Marks :
AT forder:
General Instructions:

1. oderefl Jerera 3rue wsdi A & 3R AfSw
Candidates are required to give their answers in their own words as far as
practicable.

2. SH UeAUs H & Jus — A 3T B ¥ & mmost & I
Ueell @ ITT eT 3iferarst & |
s — A (faest vd =T m=Ie) - 52 3k
Ivgs — B (Shta fasren) - 28 3k
This question paper has two groups A and B. It is compulsory to answer all
the questions of both the groups.

Group — A (Physics and Chemistry) — 52 Marks
Group — B (Biology) — 28 Marks

3. URA®b U B 3k IAB ATHS 3ifcba 2|
Marks allotted to each question are printed against it.

4. 2 3ich dlet Ul & IdIT oIolddl 40-50 9sal H, 4 3ib
dTeT UeSll @ 3dT cioTHel 50-60 WUl H T 5 3idk dlal
Uoel & 3IdT TIOTHST 70-80 sl H AU |
Answer in about 40-50 words the question of 2 marks, answer in about 50-
60 words the question of 4 marks and answer in about 70-80 words the
question of 5 marks.

5. It T B ueA-Ts-IagRawr & 3id A R otw ywer
T & HIfSIE, 31w wEl it
Do all rough work in the last pages of the Question-cum-Answer Booklet
and nowhere else.

6. oial el off =1 3faeass a8l, 38 TaTsdl & AT JE ST

H MR

Draw neat and clean diagram wherever necessary.



1. <fg R, 3R R, ufcRier uredag & a 3a®l JAAded Uice gar & 1

RR
r=fiR bR=R, - R
(a) R AR, (b) 1— R,
(€) R + L (R=R, +R
& TR =R;+R;

If resistance R; and R, are in parallel then their equivalent resistance will be -

R R
a) R=—12 b)R=R,-R
(a) R AR, (b) 1— Ry
1 1
¢) R=—— + — d)R=R;+R
() kTR (d) 1+ Ry

2. TRt &g b1 ar=dafdes dem JAdATer ATSel &bl Uidfda Ut bl &b 1
oo, ST Br 391 o B ATHS bal I/ ?

() ThRT & HIT BIhcA U2
(b) 3Teid U

(c) BIhA JII bl FIell g U
()T B URITa Pz daT HIT WIGA & dig

Where should an object & be placed in front of convex lens to get a real image of
same size of the object?

(a) At the principal focus of the lens

(b) At twice the focal length

(c) At infinity

(d) Between the optical centre of lens and its principal focus.

3. foroar & A fpIABT IUAOT HTAT T dTed Selad & H»U A oaf 1
fpaT SITaT @

(a) CNG (b) LPG
(c) SIS (d) Brere
Which of the following fuel is not used for cooking ?
(a) CNG (b) LPG
(c) Biogas (d) Coal
4. fordar F J BT Q9T Y Udell BT QT FHET ST & ? 1
(a) USA (b) A=A

(c) SITaret (d) STHATPR



Which Country is known as Country of wind?

(a) U.S.A (b) India
(c) Japan (d) Denmark

el faga uRuelt F b Feieter o1 3ulor =il fopem smar & 2
(a) Srofiepa  HAToTel (b) uTedsad AeTer
(c) fafara J<nera (d) STH A HIS <T&r

Which arrangement is not used for domestic circuit?

(a) Series arrangement (b) Parallel arrangement
(c) Parallel arrangement (d) None of these

FAT H BreT AT 3 URIT SdT & 2

(a) TATE=p 31ecT (b) eréRep 37T
(c) 3iTFolTcich 37T (d) Dferees 319t

Which acid is found in orange ?

(a) Citric acid (b) Tartaric acid

(c) Oxalic acid (d) Lactic acid

afe factret @& PHrT AT 3 &, d& =T &I9M ? 1
(a) 3TFcT (b) &=

(c) TaoT (d) ST J HIS T8t

If PH of a solution is 3, then it will be -

(a) Acid (b) Base

(c) Salt (d) None of these

et gof &1 JF & - 1
(a) CaOCl, (b) Ca (OH),

(c) Ca CO; (d) CHCl,

Formula of bleaching powder

(a) CaOCl, (b) Ca (OH),

(c) Ca CO; (d) CHCl;

TR & & TRATY3N P &g fhaa smdy e ofrd & 2 1
(a) Tp (b) ar

(c) et (d) PrS 3TTder STt

How many covalent bonds are present in methane?



10.

1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

(a) One (b) Two

(c) Three (d) None

Jofter BT 39T & - 1
(a) CHy4 (b) C, Hy

(C) C6 H6 (d) C2 H14

The molecular formula of benzene is -

(a) CHy (b) C; Hy
(¢) C6 He (d) C; Hyg

JATST Teqmet &t gid @3

(Fill in the blanks)

TUOT JFT = oo, grar @ crafes U=fa @t Y, V=ufata
B T R F=whIsa g 2|
Mirror formula=.............. where U= object distance, V= Image distance and F
= focal length.
BRI Ud AWISS BlAT B oo 2
Diamond and Graphite are .................... of carbon.
TodBlel BT ATHATST T eoeeeeiiieeeeeeeeeenensn 2
The general formula of alkene is........................
3MALA BT STHATTD ooeeeiieeeeiieeeeeeeen X

The S.I unit of charge is................oooiiiiiiin.
JAHATS <Uur gRI do ufdfea &t faowar fers |

Write characteristics of on image formed by a plane mirror.

orhe gite AW =T 82 A B g2 Them ofrar 8 ?

What is short sightedness? How can it be removed?

UTh Tagd uRuer &1 3w I |

Draw an electric circuit .

AfeTd ssgibiae & f[Oader bl ord B3 T R=IT O ? =HA
3TTHTHAT & TaE FAHIwor o= |

What will happen if a solution of sodium hydro carbonate is heate d? Give the
equation of the reaction involved?

FreafaRaa samfers Tsfieor &1 Jdgfera @Hifse

Balance the following chemical equation

a) Mg+ 0O, —» MgO

b) Ml’l02 +HCl] — MHC12 + H, 0] +C12

THUAT B PHEd & ? PHIEad B &l YHS UHRUT B AH 10 |
What is allotropy ? Name two allotropes of carbon .

ATcAdh, 3MATcldh, 3T@dlcid 3T 3fadicies bl IST&I0T Aldd JAHINT
Define conductor, Insulator, Semiconductor and Superconductor with examples.

Sitaredlt Saa fopay 2 2 gar Siarerel Saar & =T arferst & ?

=

N

I



23.

24.

25.

26.

27.

What are fossil fuels? And what are the disadvantages of fossil fuels?

eTg Td 31eTg B ar allfes derm a1 IrAgferss ol A 3iaw fort |
Write differences between two physical and two chemical properties of metal and
non metal-

NaCl 3z MgClL & U Soierglel-falg 33 FelTy |

Draw electron dot diagram of NaCl and MgCl,

S5cm T Big f&a 10cm wisA P & fBft sifaraars o I 25cm
& U T SmEar g1 Umre BT s Iffawe w9 arar ufafew
Bt Refy ATsel den uhid sia w63 |

An object Scm in length is held 25cm away from converging lens of focal length
10cm. Draw the ray diagram and find position, size and nature of image.

3rerar/OR
Joficed FH AT B B el Uz Jgd Iidai bl uredebd

IS B AT BIA B FAT SATH &2 dAT 2Q,3 Qdar 6 Q B
uferrer

a)11Q b)) 1Q ar|
What are the advantages of connecting electrical devices in parallel with battery
instead of connecting them in series? And how can three resistor of 2Q, 3Q and
6 Q connected to give total resistance of a) 11 Q b) 1 Q
fE otw ' & ofaur & faotrer & aTcAmar &1 u=Aer e o=
&1 [11,[2],[3], [4]@d [S]ehT aTHichel HITSTU |
In the given figure the experiment of conductivity of a salt solution is shown.
Label against [1], [2], [3], [4] and [5]

3rerar/OR
FreafeiRaa NPt w1 Imafees Iz o=t |
Give chemical formula of following compounds
(a) ATARYT THDB (Simple Solt) (b) ster (Water)
(c) eeY aretm ATsT (Washing Soda) (d) Sfmer ATsT (Baking Soda)

(BIO) shafasiter
et BT Forear 3T gea drar forefz T -
() JF B UBIT U (b) UBTLT HLAWUT UT
(c) hIalcl SISIITFATSS b ATeg ol UL (d)arg & dorT U=

4

5



28.

29.

30.

31.

32.

33.

34.

35.

36.

The opening and closing of stomata depend on -

(a) Sunlight (b) Photosynthesis
(c) Concentration of CO, (d) Wind Velocity
UIroThIeT A Bld &

(a) ITEIGT (b) 37STOT=T

(c) 3T (d) gzToTeh T

The anther Contains -

(a) Sepals (b) Ovary

(c) Ovules (d) Pollens
Hpolel g 37cifdrh Sielel &1dr 2 -

(a) 3rdET I (b) === &
(c) ez A (d) Srzfer=r &
Asexual Reproduction through budding takes place in -
(a) Amoeba (b) Yeast

(c) Plasmodium (d) Leishmania
FAGST H PUIRGHAT B FST T -

(a) 46 (b) 24

(c)4o0 (d) 43

The Number of Chromosome in human is

(a) 46 (b) 24
(c) 40 (d)43
CTAM. BT GRT SATH oo, EX
Full form of A T.PiS ...oooviiiiii ...
HIIA H AT oo, e JA uafad 2

In India biogas is popularly known as ...............

IHRT BT AT AT FAT BaATAl & ? IR H TIeoigd bl dRIT Bt
27

What is the liquid part of blood called as? What is the function of Platelets in the
blood?

IMER-YSIAT 3T MMER ST A o= 3fdaT & 2

What is difference between a food-chain and a food-web?

Sitelt @ fohedl et faQiuaraii &1 3cois &2 |

Mention any three characteristics of genes.

IRIUS JaT R ISt H ot fOrg-fofor argura dsit I =we 2@r
21 SABT BRI o1 |

In the stales of Jharkhand and Bihar too, the child-Six ratio is reducing fast. Write
reason for it.



37.

38.

39.

Wl Id2 =T @ ? Uk 3R HJAT B 31801 SISl dam sJAH 4

fafdreer Ot a2 Tarsu |

What are trophic levels? Give an example of a food chain and state the different
trophic level in it.

RISl b1 forsieTor s 3T =H U 3HTefd ueel & 3d2 & —

Answer the question given on the basis of diagram -

=S =T @ortar & ?
What does the diagram show?
=1 3 C 9P I w=T ATH & ?
What is the name of *“ ?’’ in the diagram?
a1 & coreit org udht fopa G &Y & JAhdl & ?
To which plant may the leaf shown in the diagram belong?
ag # wIRe uata fFa uer gar &
How does vegetative propagation take place in potatoes?
srerar; OR
HATSTd 3IcAoidd deal bl ITHIhd =IST d<1SU |
Draw a labeled diagram of human excretory system.
3Gl =T 8 ? U8 fpell uiRds &1 b Uiz uafad wdl & 2
sterar; OR
rFaT H Uyor B fAfdTest 3razenaii w1 AR guia w3
What is Ozone and how does it affect any ecosystem?
srerar; OR
Describe different stages of nutrition in Amoeba.




Je-111
Model Question Paper
Ur»d ges—-ud

AA-2020-2021

fererer : HATATSIE  TasmeT quifes - 90
BIT: 10 (Xth) JAHAT : 3 He
ATATT ferdeor

1. gagmeft Jem Jog 31ga ol H & 34T ¢
2.3F U U H IR Shls & U Al Shbrs b Jafl ueal obr
3T T 3iferaret 21

i- shrs -1 sfasr : 23 3k
ii- gbrs -1 ofaNet : 23 3ih
iii- Saprs -l  SIToTTehoIT==T : 22 3ik
iv-  Sabrs -1V 3referrs=r : 22 3ik

3. 99e &b Ta»U foreer &y -
() Tgiamca/RaRT =Imer B gid B2
(1) 3ifar crgues
(1) &g ues
(&) e gee
4. 02 3ip dlel Uedl &b 3IdT 40 9ol H AfSw|
04 3ich dTY UQET & 3Id<T 150 2ol & SIfoiu |
05 3ih dToY Ul & 3IdT 200-250 2ol H <Ifoiw |

shie— 1 sfte=
ggidseg gest|l (01 3ih) JA& 3T ITe B |
de ATaRH oftd & AT HdeT 2

(A) IPFJea Idexelrer TN (B) dfchddes decrureIT=y
(C) HSTHT orief (D) JFATY Tox oA
3nfifes HAgTHET T Y3 BT T A S ?

(A) Tareer (B) WA

(C) BTATIBT (D) ST

Tecter faeageg e g31T ?

(A) 1914 F 1918 B) 1916 A 1920

(C) 1936 A 1944 (D) 1939 A 1945

fFA AT & gRT JET B UPH IWAdd I B HU A ATedl
fareit 2

(A) JIJeIGeTIT oY (B) aATT HI
(C) Tae 3TH Jferdel (D) TAH A HBIg A&t



SI0 37FAShI o cfHd dof THITHATLIA bT 9 b ThaT ?

(A) 1920 B) 1930

© 1919 D) 1929

orell Sit of BT AHDB TATH AHD dblefed Bl coidsl [haT ?

(A) 6 3UeT 1930 B) 13 3UA 1919

C) 12 &A™ 1930 M 11 AS 1919

PIeess A A Al o7 BT gaadbe Repd F&qmel b ARE -

HiA H ICT D Udldh B HT H SHATS SATH  eeeeeeennnnnn. = o= |
(GraTer=T, HATI31TE)

orfell S A oo SATHDB ATl UL SAHD dellhbe AHD Dbloa

(HATE=ACT, ST

aifr @1g 3TAT Ued (02 3i6 : 40 o=@ H IR &)
B A wad 9

anfe— INeEeflepor A = area=f 8 ?
g 39T ueA (04 3 : 150 o=l A IAT )
AT IMElded HA HRAIT FRT MUSATE 9T dINbl bl AT
HIST |
OR
HRIATT 3TfTazel Uz HASTHST & UHTAl It ATSAT BIHOIT |
A ITNT e (05 3icF : 200-250 9oI=|l H IAT <)
1odf & & JP[U H HH Ielorafad AMEAT B ForT &I A BIA
FHIraTr fHBT BI uTerfHbBar a=if ad ¥ ?
OR
3T0aT QA dTcl &131 H oMAT-AZT Bl TGl HIA Jellel B
fore Suiferer 3 @RI geara e ?

. feu oru fea & @A & foear J&mal bl @ornu-

() HIS @) 3i1fsrEr



ECo e L QUL
ggidseg gestl (01 3ih) JA& 3T IIe B |
14. SIdIpROT Aod FATeTS 8l |
(A) Sitared Serer (B) AT Jsoll
(C) uael ot (D) Slet

15. ARd H ‘Uloide ISR &I W3 B g ?

(A) 1970 B) 1971
© 1972 D) 1973
16. oREvs A Rerd orsar foeafaRaa & fva =ferer b1 3raroft
3deh & ?
(A) dTRATSS (B) 3TH®B
€) dg 3=® (D) afar
BIsses A A AT olsT Bl geadbe RepT F@amel b1 ARE -
17. ARA BT USAT AT T e HF Has H conmAT O

(1854, 1856)

sifer g ITAT uear (02 3id : 40 o=wl H 3T I)
18. Tilg JAfelol IAT & ? 3QTEI0T ah2 IO |

g 39T ueA (04 3P : 150 o=l & 3IAT @)
19. dd 3N Ied Gildel bl JIEIUT BT Fl ITdeAqb & ?

20. U ARG A & JAJa&uT b A0 3IUATE Siladiel dlhl bl ol

BT |
OR

HATT JAsHI BT AsA IATO |
A 3TNT uest (05 3iF : 200-250 9or&EN H IAT )
21. W2 3T dPrR FHed #F 3z Iu< HifeE ?
OR
arg uReieler & fug & Jgu & guia Hifee
22. QU 9l oRa & AR # fere=tifcea @i gortv-
() ot 3T dieht s

(i) Br=TAT HATA




R

23. &Y o oTRa P HATGRT &1 eTelgdes eI HISIE 3FHR 6,3 2
SRT Uetsfa oioral @bl usdla @b <ITaiihd 3 |

s S
{ A s

R e
CPRY

SbTs—II1 SATeTRBT=
ggidseg gestI (01 3ih) JA& 3T TIP3 |

24. TereafaRaa A I dra—a1 AUT IoT IJPE D 3icgdolad 3d & | 1
(A) Sfpar (B) HFIER
(C) arfdrST (D) og&T

25. R A fpA IoT Br 3ryer Afgener 2 1
(A) BT (B) uifsar
(C) ofrar (D) GIFHA—BHIT

26. =IUNieiehT &t forgfo Hler w2t 2 1
(A) eBretuTfeTesT (B) Iazeritent
© gera ameier D) merdt & B o7l

27. UST Yeoieal AT B RUlE I e o, b or=m e ? 1
(A) 1 STz 1991 B) 10 TAFER 1990
C) 1 Sa=R 1956 D) 10 TAFR 1965

28. 2006 & 29 A fhda o ICT FAT UT ATAT UTT 2 | 1
(A) 12 B) 10

€ s D) 6



29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

BIses o A AEl oE PN gadb Rad S Bl HARTE :

(Gratell, seet)

.............. o 31U J&l & fafdes SdT Jeglt @b STwmissit &
dT IAwadryde ATHeRT FRIMua fHar |

@fesr=rar, sfitciopn)

................... WWES@QTW%I

(FTem BT IR, FAATAAT BT ITEHR)

sifer og ITAT wear (02 3id : 40 o=|l H 3T I)
JaT & Afgs faRer I o= gt 29

Jg I A T gt q 9
g ITAT ueA (04 3ib : 150 o=l A IAT )

b & faaeft

Tcll @ oIfHdBT UR UdhIel SIfciU |
OR

JAAT B ATSET B IR Ul bl dulal BISIT |
A ITNT e (05 3iF : 200-250 9or=|l H IAT <)
SoT cAleba™ @bl I 3ifereh ude bhd & ?

OR
A =T odaraad 22 1992 A Afdara JFonga

SR fohA Uhlz R AIBIRT bl QIfcrkaornail 3N UHTdr  aerr=m

I=—T B P IAAT |

Igfdded g |

Shrs-1V 3reforr=sr
(01 3ih) AL 3Id2T TAA B3|

S A hIia fgdies &5 H onfdHaT 2 ?

(A) BFER

(B) g eAbB2

(C) T Jeog BRI H e (D) Iugad AT
Uk daxg I SIUdhierd: Ulhkides Uihar A 3dies A g5 ot

arfafafer 2
(A) uTerfHP

(©) qgdraep

B) T
(D) Jaem Arenfrast

SRUT & 3[aludiies JArad H onfHeT 2-—

(A) =TSt
©) T

(B) g1 AfHTTHT
(D) STH A Pl <Tal

1



40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

HRA H B3AT e Pblad Sl hdl & ?
(A) X Fb 3iTH Sfsam (B) AcgaT Jdp 3MTH ST
C) fPord Tep 3MTH Sfear (D) Uolla SA9TadeT ddb

faeg <t fba JAsenm o R AT foder & Iesidpor & fou
freprarefter 2ot Uz eara sram 2 ?

(A) faeg =murr Jored (B) faog Tawk
(©) I HaT Hy (D) seTd A PIs &0
faeag Bt IATA TS HAlcons! ferATdr bausl biaT & ?
(A) <rer #Hex (B) Hoehl hadeit
C) wig e (D) SaIH A PIs <Tdl
BIees o JA FEI oIT PI garhe Rad TS P HRE :
BMATA UT B, oo 37AIAeIPh Bl Th ISTEIUT & |
(@forsr, =ITaTR)
AR H e, 37gUTa H sifds 3orod &3lds H HIHA BT
T B
@S, BIc)
TP e, UI cadled &JTel A 3RUT U3 38 &=&ATol oid & |

(STHATSAA, STHAT IATA)

aifer og 3TAT Ued (02 3i6 : 40 o=@ H IR <)
BT &51p H Ircu—AAGOMS I B ?

azg faferar 5 wea &2
g 39T ueA (04 3P : 150 o=l & 3IAT @)
“3rToITed &5l H ufHBT b1 oNwur fhar Srar 271 =T 3 SH

e 3 JAsdaa € 2 PrRur Afeiw |
OR

9T Bt srefegazenr A Fbi B T efdrempT A TP
A 3TNT uest (05 3iF : 200-250 9or&EN H IAT <)
G 2ol H dgIgy wuferl A bR 3dEs A1 3desd U
fore=ror Tenfua =t & 2
OR

BRI gRI 3iferep fadoht forder 3meiid 3 &br g =T bdl
g P



